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TefrrefSfes sumfim (McQ) wa: nefng Barfefam ammrafom (8AQ) ¥37,

Bt 2ws A Wit TABLE-@ frere v |

( TefFapfefys orrafir )

1. oM dvwn Be Tun wva Rewalm e e Aw Serena e :

(1)

(11)

(ii)

(iv)

1 x 14 =14

RNva @ S FB Mo AF 93 @A Ton FHR T

FA?
(a) AgBr () NaCl
(c) CsCl (d) ZnS

@R «faafzers s1 s @G ?

(a) S cm mol™! (b Ohm cm mol™
)

2 =1

(c) S m?mol! (d Sm

ﬁmmﬁwﬁ@ammmﬁﬂﬁg@m@mﬁﬁw?
(a) (b) &

() XS (@ =

fresa @idA KBr ot (e QR RefS Fams e e 2

(a) I (b) SO,
(c) Br, d) F,
[ Ns-cHEM | 3 of 44




NN

Q.N.CHEM|(NS)/24(08)-543

v) Ner @ ke e afqadaie sas wg o 1 o

(@) Sc (b) Fe
(cd Mn (d Co
(vi) TwSfrE dfer wifRfdes wFfem™"m wta Aor @i e
srifba SeTAme Wy A
@ sp’ (b) dsp’
© d3sp d) spid

(vii) Nor Fewew QSRR g @D FO Sy1 Rt sz

FEA?

Cl Cl
@ A B~ A

Cl

(vii) YA Tmom @wrm MR A @ Rivwm [ @

Teld T ?

(a) CuDI-GIHITEE

(b) 2, 6-GIEFTHTFT
(c) 2,4, 6-LIITIATEA

(d) 3, 5-SIIATTEFA
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(ix) N2 S SomeRy s ® >

9
C—=CHj CH,—CH,
—l
(@)  LiAlH, (b)  Zn(Hg), MG HCI

() N Qe ww @G HifRs Wi

CH,NH, NH_
(a) @ (b) @
NH, NH,
© QI | d @
c (d) NO,
NO,

xi) RAYFes wbc TyE w@E, S 8 MR @I TR ANES
AT ? |
(a) WES-FAEG-IYMA (b)) WEAI-YAA-FAHS
() TAREG-WEI-YNE (d) TITA-BAS-TATS
r{xii] Fer @R Aferezs cofg sfemm 2
(a) WIFEARD (b) GRfem

(c) TR d) F2FF-6,6

[Ns-CHEM | S of 44




eI

Q.N.CHEM(NS)/24{08)-543

(xiii) AwA @D AnabiBne ?

(xiv)

CONH, CONH,
(a) (b)

OH Cl

NHCOCH; COCHj5
(c) @ (d)

OH OH
A} FATHII0 S Al

(a) CIRAN GRS

(b)  CHRAN CHRIZARCED
() onfam et

@) azfrR_F0H

(s Toafeles orarat® )

o fafiRe duafr e swfve tar nis (Rew eafa 7u8) -

(i)

(i)

wcvifss «faqifRer FicE s ?
HYql
ETS-AEAF (I AZWR JBIR 71 ez abifRe

AFH @t sy {CMé} 2
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() +d 1A ALa (4t erfdfpe sz AN@fba AT ool |

HYq]

3+

Mn’" @3t Cr* —97 oy Iba AT A AgETTSALS o

Q@ qas @ ?

(iv) CERADE @R w= tof fifdre RBere Rowa & 377 =W ?

( FraafSfes / adangers aafa)

3. fAafafds aqafem Adee Tag nie (Rew eyaf swam) © 2x5=10

@ () N Row gk S=El ¥ @@ @ FE AT

WIANA GO | FBIFE AT BT

(ii) FATTa AP ST SRAEs F@s ATCH A [y

AT | 1 +1
weat

WS 5191 FIILT ACA ? 2

(b) ST SfECTEe @3¢ IPTARS SIRCTITR Wo 70 e a2
St

T B 2 (S-S SO XN 9Ff6 THAZAT A8 | 1+ 1
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4.

() () PCL, s anyes quifne ou (@ ?
() 1, v 1) cafm Hf e s ]
Al
VSEPR $% St BrF, -3 Wefds 5= fAdma a0 2

d) (i) frufafys wfomr At @iln o1 AM=fba wma Ay A

*q1 .

[Cr(NH,),Cl1]SO,
() @F @& CrCl,.6H,0 &fba1 AR &AW &1 SfoRe
Prerer aXEs anet T, o cme frerer Grraizs wusfrd
| wiow (@efoa sers [da 3 1+ 1
(e) () IR SEIHIEETIR AFeT RT 9P 7T I ?
(i) OfRfem ¢ T 9P FE@ TENMR-GF AW E@AT 1+ 1
fAafeRe duafm e Toa e (Rew eafer svmdw) . 3 x9 =27
(@ (i) P-oFreR SRR INF 03 2
(i) G FIPR 9FF @R A  Ffos Rmafrs X =y
932 TSNS Y AqWY ISR AW 93 e S
@fre e 4t X wawg weifys A, @ dneba

A Ay 1+2

]
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{1}

(1)

(b) (1)

(11)

() (1)

(i1)

B mataa s Gubrary(je pBa wie ufefas felams
Aawga Ewigbece fefgun praiBona comm ) ad mae

L4

@afb  wrgr  enawefas wa 50 g mol! gar wEf
FeaME GRBRIA (@A (bee) HIR I apbA WY
596 g cm® wpfa «Ie @R wwex fadfy AT

(WSS #2271 = 6-022 x 1022 mol™) 1+ 2

SIS T 29 § ?

300 K SIouran ofs iR g3t 36 g TS HATS WIE,

OYH HATTR WieH’e Bea WA 4-98 I@ I AW 9IR

SeNIaTE @Ry wfem’da s ¥ 1-52 I@ W B’

waBa W MY IS P (CRSH TR, JLICEI RS

&2 = 180 g mol™') 1+ 2

HarTz AYSIA W WevifEws sifaafze 3e1 o @ 2

efafas cem Afent Awits zn @ sy @t Gt

ofEr ICAT Q32 (FMBT SFELBTHT I ( ems) IR FCAT

Mg (s) + 2Ag *(0 - 0001M ) - Mg?*(0 - 130M ) + 2Ag (s)

( ceaw) o, E_, =3-17V) 1+ 2
e
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() 9% WM MnO,® Mn”’'9 fasnfas aace #uean sfy.,,

*faqe @ -

(i) R Ao AW gaet 3 wnfema ofee 15 fafed o,
B FAH FAMT TS AN FAT 4P TN I ? (FM7ze

AT ©F = 63-5 g mol™)) 1+2

d) @ mﬁwznmf&rmﬂﬁﬂa%wﬁrwmw

A P

(i) Prrer e e Brrer ARHE ENfeTN TS O3
AR ctE s AR Frenstd e e § o

1+2

AL

(i) TR MO QAT INF A icwfbe apmfas Rwmafe
Afis FARwaawf@ @)

(i) ARG fame & 2
() () ex R s wan .

KMno, 513K, -

(i) NaCl-c& *bIfFas SErrms «ae sty H,S0,52 Tae 34

@ THAT-FA IR AT+ Asfs zw, O a1 @ e A |
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N

(B

(1)

(1)

(i)

(1)

(ii)

QMBS ALTHBLAA WA AIGIACHS  HC@ILLAA goreiry 4

(s 2 1 +# 1 + 1

fAsfafe RfFnsfires g twr Rfrere wmdsfns e

AT -
(x}) CH3CH,CH,Cl+Nal —0¥— ——— A
ST
HBr
) @-CHQ—CH=CH2 i
"=
CH,COOAg + Br » C
3 -4 2 ccl,
CH,OH Hcl
Toa
() A
HO

WIPCFIZA (ACF SRR ARG A@fdR cwta Rewe o

Qe @EINTGA IQATA FIWW IRAE=E | IR AR

FA | 2+ 1

frera #fAada AR ? (FIFNE S fore A=W orars)
fFefim > ==

a1 RIFS IFTR BT 1°, 2° 8 3° WFAIIRTA T

o FAQE ? 1+2
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() Swiead wre - ardwra - Bupe fafaun

(1) ¢ faBhRm Rt Rera wagfon (wia ba faf 2utfl Toj6

u:;u;1

CH,
LJII:‘,ONB +CH3_C Cl ——lp Cl‘l]'-(t.’ 0(..2}{
CH3 CH,4

(x) @ R guw Riarers ond & 2
(y) ¢fatoma Za%e 29 48w @« Tge ffsw

A 1+2
(h) (1) Fw= Rz Rersacs " 30
2 o)
: &
N e
@:C/N H @: "R o> N—Cats
I -
O o)
| o

X eoon == T Goome
(i) @%b T IvTEfAE RfFwr e e Raza spfe g
oi¥fAdids Smfias v onds 7w 2 2+ 1
et
() Fefafe RfFnfba avmffs sfead @on .

50% WA FI1 BATS TRGLAgARE e pof @
wnRifAE GFrRRE 3 Tee 331 305 |
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(1)

(a)

()

a3t amtamafbes A% A

(wvfds neews C,H,ON) Awa

NPT RfFvefre woges s Neoa R

A, B, C 932 D-903 5131 ALTS (0N |

D
Y
A| CHCl; + NaOH (alc)
Br, + KOH
C-H,ON 2 > OH
H<:NH
NaNO, + HCI B Cj c
- —T—"
273 K OH
1 +2

() CcHfdeTa SRR A # 2

(i)

5. ﬁuﬁrﬁwueﬁaﬁm(ﬁwﬁsﬁm);

cﬁmmﬁ?Gly-Mammmmﬁl

1 +2

Sx3=15

(i) mmﬁmmﬂﬁm“wﬁrtswﬂmm“:

(i)

= RNt SEETTIER (¢, ) TIST

Wl

| NS-CHEM |
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(b)

(i)

(ii)

(i)

(i)

(iii)

w1 Aoy T R I I 2 G3fh THrEEd wie

R wfrgeaa «fea A @0

wibam  agr wwm  wnwfRm MeR Rumes
(2NH,(g)—E—»N,(g)+3H,(g)) <3 T To= Rfan,

RfeFnfbz g e w19 (K) = 2-5x10™ MS™ = N, @=:

H,-a3 Teofsa gm 35 » 2+1+2
ClLy¢ SO,-97 RAgR wfr gorml T |
ﬁ?tsaﬁﬁwﬁﬂﬂqtf?rm:

NaCl + MnO,, + H,SO_ () —2& 7

FE I AT -

(x)  Cl,~a9 YEIRA- 2= GRAEAN A1 ol wfsE T

F, SCor®! @fet

(y) [Ra& s poces = 49% 39 2+1+2
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(c) W AdusAce A (We U TATG BCAI (CPAANIL Thet ALEL

»

CHN} 5.-']“"'r

. COOH pNH
(1) @: 3, A a —» B

COOH iz Tare
. SOCl, (i) CH,N, (=)
(iij CH3COOH— C —s D
(ii) AgL0, HO,4
CH,

i) CrO,Cl
(ii) @ {__ 222, E

(ii) HR,O

CaO

(i CH,COONa + NaOH —p—>F

20% H,S04
-+ G
1% Hg'? 80°C

OCOCH;
) oA AICIL' H+ I
{VI] CSQ , ﬁ

NaHSO;
(viij CHCHO — J
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1 «af tea Aot enfye sodiangacsa WA w3 e upf,
Roftw spwcetee Seow on | twa Mafba e e o,

fasa 9@ et SAGTAfeeEe (ALE afbre wgs 2ars
(i) Ywrmae wre . afaeca R
(iii) frerm *Rads TR » (e 7 frea A2 s
(x) OG- @bl

y) QeafeEs - SRrEaenze 2+1+2
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( ENGLISH VERSION )

The questions related to MCQ and SAQ should be answered in the

specific printed TABLE accordingly in the Answer Script.

1.

{ Multiple Choice Type Questions )

Select the correct answer for each question from the given

alternatives and write it in.the Answer Script : 1x 14 =14

(1)

(i)

(ii)

Which of the following ionic solid compounds shows both

Schottky as well as Frenkel defects ?
(a) AgBr (b) NaCl
(c) CsCl (d 2ZnS

Which is the SI unit of molar conductance ?
(a) S cm mol™! (b) Ohm cm mol™!
(0 Sm?mol’ d Sm!

Which of the following is a colloid system of liquid

dispersion medium and gaseous dispersed phase ? .
(a) Foam (b) Gel
(c) Emulsion (d) Sol

| NS-CHEM | 17 of 44
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(iv)

v)

(vi)

(vii)

Which of the following has ability to release bromin,

from KBr ?
(@ 1, ' (b) SO,
(c) Br, d F;

Which of the following transition elements does not exhibig

variable oxidation state ?
(a) Sc (b) Fe
{c) Mn (d) Co

The hybridisation state of the central metal atom of a

square planar complex compound is
(@ sp° | (b)  dsp?
() d3sp (d) spid

Which of the following halogen compounds undergoes

faster Syl reaction ?

Cl Cl

@ A~ )~ A

Cl

(c) /\M (d) NN cl

LHB-CHEH' 18 of 44
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(viit)  On reaction with aqueous bromine at room temperaturc

phenol forma which of the following ?
(a) meta-bromophenol
(b) 2, 6-dibromophenol

’{C] 2, 4, 6-tribromophenol

(d) 3, S-dibromophenol

(ix) Which reagent is used for the following conversion ?

Q

C_CH3 CHz—CH:g

A —03)

(a) LiAlH, (5) Zn(Hg), Conc. HCI
(c) NaBH, (d Hy Ni

(x) Which of the following compounds is the most basic ?

CHQ NH2 NH2
(a) (b) @
NH, NH,
a QL
[C] @ “ NO,
NO,

[8-cHEM | 19 of 44
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(xi)

(i)

(xiv)

In which of the following orders arc basc, phosphate and

sugar arranged in nucleic acid chain ?

(a) Base-phosphate-sugar

(b) Basc-sugar-phosphatc

(c) Phosphate-base-sugar

(d) Sugar-base-phosphate

Which of the following is a polyamide polymer ?
(a) Bakelite (b) Terylene

(c) Teflon (d) Nylon-6, 6

Which of the following is paracetamol ?

CONH, CONH,
(a) (b}
OH Cl
NHCOCH; COCHS,4
(c) @ : (d)

OH OH

Identify the food preservative :
(a) Sodium chloride (b) Sodium metabisulphate

(c) Sodium benzoate (d) All of these

| NS-CHEM | 20 of 44
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( S8hort Answer Type Questions )

Answer th
[ c L . .
following questions in brief ( Alternatives are 1o by

noted ) :
] x4 =4

/Lll What is specific conductance or conductivity ?
OR

State whether lca&-storagc cell is primary battery or

secondary battery.

/liil What is critical micelle concentration (CMC) ?

..:{"m] Name the lanthanoid element which is well known 10
exhibit +4 oxidation state.
OR
Out of Mn>* and Cr®" which js more paramagnetic and
why ?
(iv) Name the sweetening agent used in the preparation of

sweets for a diabetic patient.

( Subjective / Descriptive Type Questions )
3. Answer the following questions briefly ( Alternatives are to be
noted ) : 2x5=10

/ﬁ () Vapour pressure of a pure solvent decrecases when

non-volatile solid solute is added to it. Explain why.

- [Ns-crEM | 21 of 44
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(ii) State the Raoult's law of rclative lowering of vapg,,

preasure of a solution. 1+

OR
% What is osmotic pressure ? 2
/WP Write two differences between physical adsorption ang
chemical adsorption. 2

OR

What is emulsion ? Give an example of water in oil type

emulsion. 1+1]
/(9)' (1) Why does PCl, produce white fumes in moist air ?
(iif ~ Why is IC]l more reactive than I, ? 1+1

OR
Deduce the molecular shape of BrF,; on the basis of VSEPR
theory. 2

d M Calculate the oxidation number of central metal atom

of the following complex compound :
[Cr(NH,);Cl]sO,
(i) When aqueous solution of one mole of érCla.EHQO
complex compound is treated with excess of AgNO,,

3 moles of AgCl are precipitated. Determine the

formula of the complex compound. 1+1

| NS-CHEM | 22 of 44
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(e) (1)

How does vulcanisation change the nature of hatural

rubber ?

() Write the names of the monomers cach of Terylene

and Dacron. ] + ]

4. Answer the following questions (in short) ( Alternatives arc to be

noted ): 3x9=27

(a) _4i) What is P-type semiconductor ?

/lijl A unit cell consists of a cube in which X' atoms are¢ at

the corners and ‘Y’ atoms are at the face centres. If

two ‘X’ atoms are missing from two corners of the unit

cell, then determine the formula of the compound.

1 +2

OR

(1) Which type of non-stoichiometric defect is responsible

for the pink colour of lithium chloride in presence of

excess lithium atom ?

(i) A metal having atomic mass S50 g mol~! has a body
centred cubic crystal (bcc) structure. The density of
metal is 596 g cm™2. Find the volume of the unit cell.

(Avogadro’s No. = 6-022x10%% mol™!) 1 +2

. | NS-CHEM | 23 of 44
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{t}/ )

(ii)

(i)

(i)

What is van't Hoff lactor ?

36 g of glucose dissolved per litre of the solution hag
an osmotic pressure 4-98 bar at 300 K. If the osmotic
pressure of the solution is 1-52 bar at the same

temperature, what would be its molar concentration ?
(Given, molar mass of glucose = 180 g mol_l} 1+2

Why does specific conductance or conductivity of a

solution decreases on dilution ?

Represent the galvanic cell in which the following

reaction takes palce :

Mg (s) + 2Ag*(0-0001M ) - Mg?*(0-130M )+ 2Ag (s)
Also t;alculatc its emyf.

(Given that, E'__, =3-17V) 1+ 2

OR

How much charge is required for the reduction of one

mol MnO] to Mn?* ?

How much copper is deposited on the cathode if a
current of 3 amperes is passed through aqueous

copper sulphate solution for 15 minutes ? (Atomic

mass of copper =63-5g mol"] 1+ 2

| Ns-cHEM | 24 of 44
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(d)

(e)

(f

(1)

(ii)

(ii)
(i)

(i)

(iii)

()

Why is blast furnace used in cane of extrachion ol iron
but not in case of extraction of zinc ?

What are the functions of sodium cyanidc in casc of
extraction of silver from silver ore and cryolite in casc

of extraction of aluminium from alumina ? 1+2

OR

Write balanced chemical equations for the reactions

involved in the extraction of copper from copper

matte.

What is thermit mixture ? 2+ 1

Complete the following reaction :

KMno, 13K > '

Write the name and chemical formula for orange-red

vapour which is formed when NaCl is heated with

potassium dichromate and concentrated H,SO,.

Why is actinoid contraction greater than lanthanoid

contraction ? 1+1+1

Identify the major organic products in each of the

following reactions : .

acetone
A

CH,CH,CH,CIl + Nal
x) SR heat

| NS-CHEM | 25 of 44
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HI3r T
(v) @— CH, = Cllm=ClH, I'eroxide

distillation
» {

CH,COOAg + Bir.
A H 4 CC].-‘_

CH,OH  HClI

——p [
o T A

HO

(W For the preparation of alkyl chloride from alcohg,)

thionyl chloride is preferred. Give reason. 2+
® (@ How would you convert — (Give only arrow heaqd
reaction)
Cumene —» Phenol ?
(i) How would you distinguish among 1°, 2° and 3°
alcohols by using Lucas reagent ? 1+2
OR
(1) Give an example of Reimer-Tiemann reaction.

(i) The following reaction is not an appropriate reaction
for the preparation of t-butyl ethyl ether :
(|3H3 ?Ha
C,HsONa + CH, —!F—- Cl —> CHa——(I.‘.—-OCQHs
CHj, CHj
(x) What would be the major product of this

reaction ?

(y) Write a suitable reaction for preparation of

t-butyl ethyl ether. 1 +2

- | NB-CHEM | 26 of 44
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(h) () Id :
dentify reagents in the following reactions

QO

Oic/r*-n——-@: ep_n. (I AR
1,.

O:Cf}(]li D COONa
—

COOH COHINa

(1) Give one chemical test to distinguish between methyl
amine and dimethyl amine. 4 ¥

OR

(i)  Write chemical equation for the following reaction
Nitrobenzene dissolved in 50% ecthanol soluton is
heated with zinc dust and ammonium chloride

(i) An aromatic compound ‘A’ of molecular formula

C,H,ON undergoes a scrics of reactions as shown

below. Write the structures of A, B C and D n the

following recactions :

D
&
A C}i(.:l',, + NaOH [Hl(:]
Br, + KOH
C,H,ON 2 » C,HsNH, OH
(A) A
NaNO, + HCI
273 K > OH ‘
1 + 2

- ._"'_'-C!“_i‘j 27 of 44
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(1) (1)

(1)

“

(a) (i)

(ii)

(i)
(id)

(iii)

What is the monomer of proteins ?

What s peptide linkage ? Draw the strucyy,,,

Gly Ala dipeptide linkage. j

.

Answer the following questions ( Alternatives are to be noted )

5X3=15

Establish the integrated form of rate equation of firs

order reaction.

Show that in a first order reaction, time required for

completion of 99-9% is ten times of half-life period

( t) ;o) of the reaction. 3+2

OR

What'is pseudo-first order reaction ? Give an example.

Define activation energy of a reaction.

The decomposition of ammonia on platinum surface.

{2NH3(g]—ﬂ_}N2[g}+3H2{g]} is a zero order

reaction with rate eonstant (K) = 2.-5x10™* M5!

What are the rates of production of N, and H, ?

2+ 1+2
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®F Compare the bleaching property of Cl, and S0,

() Complete the following reaction :

NaCl+MnoO, + stoqtconc.]——“——+?

(1ii) Give reason for the following :

(x) Electron gain enthalpy or electron affinity of Cl,

[ -

is more than F, .

(y) Noble gases have very low boiling point. 2 + 1 + 2

(c) Identify the following compounds ‘A’ to J' ( write only

structural formula) : 3x10=35
COOH A
(i) @[ N s a —» B
COOH Strong heat
SOC]Q {i]‘ CHQN.Z (CXCCSS]_’ D

() CH,COOR (i Ag,0, H,0,A

S ci
(i) CrO;Cl
(i) @ @0

CaO
(ivi CH4COONa + NaOH TF

20% HySOs |
1% Hg*? 80°C

. [ ns-cHEM | 29 of 44
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(vi)

(vii)

(i)

(ii)

(iii)

OCOCH,

1
i anhydrous MC;_’ H+ 1
C& ] ﬁ

NaHSO
CH,CHO 2y J

OR

An organic compound produces acetic acid and ethy]
alcohol on acid hydrolysis. Write the structural
formula of the compound. How can you prepare the

compound from acetaldehyde in one step ?
Give an example of Cannizzaro reaction.

How would you convert — (Give only arrow head

reaction)
(x) Acetone — Mesitylene ? -

(v) Benzaldehyde — Cinnamaldehyde ? 2+1+2
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( HINDI VERSION )

:: ﬁ,ﬁiqwmlﬂcolmﬂmmmm*
= Y™ TABLE gt foral |

( wg frwedta we )

1. TR I ® W I R Rewedl § @ g I g § ferd

(i)

(i1)

(iii)

(iv)

1x14=14
ﬁ“ﬁﬁm-mmmmmmmg&
T} ?

() AgBr (b) NaCl
(c) CsCl (d) ZnS
ML ATetshed & SI 31 FA-d } 2

(a) S ¢cm mol™? (b)) Ohmcm mol™

() S m?mol’ d Sm’

ﬁmﬁ%aﬁn-ﬁmqﬁﬁwmmﬂ:ﬁuqﬂﬁaﬂm

FAEE SOt & ?
(a) HI (Foam) (b) W&
(c) T d) |

ﬁﬂﬁﬁmmrﬁﬁlﬂ?gﬁﬂiﬁﬁmi?
(@ I (b) SO,

(¢ Br, @ F,
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(v)

(vi)

(vii)

(viii)

(ix)

ﬁaﬂﬁﬁaﬁmﬂwxﬁqﬂaﬁmmﬂmmﬂﬂmﬁ?

(a) Sc (b) Fe
(¢} Mn (d) Co
U TR aRad ity A W HEE G 9 HEw

T 8
(@ sp° (b) dsp®
() d3sp d spd

P 3 ¥ - deiom e gam sy 1R 3 2 2

Cl Cl
@ AN B A
Cl

(c) /‘\/\/\ @ NN

AT S AR A9HH W AT s & gy afufen @ e 0 @
N Far g ?

(@)  FI-SHIGATS (b) 2, 6-SRIHHATH

© 2,4, 6-JEMHAR (d) 3, S-SEHAEBATA

fa= aftadw & fog few sRmis ST s gl @ 2

O
]
C—CHg CH,—CHj;
—_
{a)  LiAlH, (b) Zn(Hg), Aig HCI
() NaBH, (d) H,, Ni
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(x) ﬁﬁadﬁhﬁﬁﬂiiwmawﬂﬁmamﬁhl!?

CH,NH, NH_
" e
NH, NH,
() (:j d Eij~
(d) NO,
NO,

(xi) P 3 A F-w s fRaw sne gEen § an, R AU TR
R |
(8) WR-FRAR-TEHU (b)) WN-TEU-HERE
() TER-gR-TT (d) TEI-ER-FER

bii) Pt F @ B o aiitrees g € 2

(@ Herge (b) e
(© 2w (d) TEEH-6,6
i) P 3 2 F Sueherie & 2
CONH, CONH,
(@) (®)
OH ¢
NHCOCH; COCHj
() @ @)
OH | OH

() ORmwTE (b)) Wi feeEEeR
( afeam & (@ 8@
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( vg Iudig W )
2. Prafufua weat % s agw 3 AP (dsRw s R @@ ¥)

1x4=gq
0 fafre seem e aewa w2 2
o
T 6 Ss s e o s 420 @ @ Refiew 3
(i) swifew Rl« gigar (cMC) 7 2 ?
(i) =% HNE T S +4 FvEAw© e Oy 3 gIRRE 2, &
AT Fand |
It

Mn®" @ cr®* § @ st sgai 2 aur w4l »

(iv) mﬁ%ﬁn%(m)mmmmmmm
% fore fraed wmmy ¥ e s 2 -
. ( fawatres / auires wew )
3. ﬁm%f@agﬁ%mﬁmﬁﬁm(hﬁwmqtm%):
2x5=10
@ (i) m%sﬁgzﬁam%mamﬁaaqﬁﬁaaﬁﬁam

m%eﬁmmmmmﬁlw‘i? e+

(ii) Pﬂﬁf&wwmmwmﬁ&ﬁ;m%ﬁmmﬁm

AT |

NSC
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(b) ﬂfhuﬁmmmmﬂaﬁmfﬁ@r 2

rum
VA W R 2 ¥ o woR yqews &1 0 I 3 141
(€ () PCl ¥l 3 arg # w¥g qu 3= wtar & ?
(i) ICIwT L, A st sARifrareha 2 1+1
e

VSEPR firgia % amm w BrF, %1 V4% ATHN (shape) frepret |

2

@ e wft e F FAa g qE AR TS

€ o
[Cr(NH,);C1]SO,

gy o aftm cwla.suzomlqarha%aanuﬁamaﬁ
Agnoaﬁmﬁm%mmﬁmm%mﬁtgc]%
f7 e sEafa fa ¥ wfdm AfE w1 A (formula)

frufor X 1+1
(ii) hea aun e ga® & Wﬁ (monomers) ¥ T foad|
1 +1
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4. Frafafga gwi & am daw § A (@ w@ W wm ) .

(a)

(b)

)

08)-543

3 x9 =9y
P-YR av=TeE 1 8 ?

(i) TF 7od I H w2 Frwd BoR Fx Y ¥ aw g

()

(i)

(i)

=5 Ay oy &) afe 7 A F Q FON A QX vy
AW & R & @ s g P Bt 142
e
forfrm womy € st & sufeafy 3 R wese &
TR 1 ¥ F-werEiRaiE IR % feu R e @ ¢
TF UTlg 1 THEW] 899 50 g mol™! & AU &wI*hiwd w4
foreew {bcc]frﬁm.%\mgwm 5:96 g cm™ 8| TR B
H1 I Pt | (TETgl i §6 W = 6-022x 1023 mol ™)
1+2
e EF IO TR 2
36 g N g1 & femw =1 9y v § qoEtedw @
300 K W 4-98 SR 3| AR} foemm =1 36t anosen @ qomoi
T 1-52 R ¥ N o Wi e wn o@m e (R g 2,

‘lﬁﬁﬁﬁlﬁlwm=180gmorl} 1+2
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UL HDITTE T

(€

(d)

(i)

(1i)

(1)

(i)

foe facra o fafe arermen o e @il A 9

ELI

30 Al A ) quid Rl e rfirfean 81 &
Mg (s) + 2Ag *(0 - 0001M ) —» Mg 2*(0-130M ) + 2Ag (s)

R, & o it w0 (e &7 E oy =3:17V)

NEEFHAT & ?
uﬁs@maﬁﬂmlsm%m
ﬁﬁwﬁaﬁmmaﬁ%ﬁsmﬁﬁmaﬁlﬁﬁm@m?

Sreftg 19T geke e

{afmﬁrqmﬂlﬁa;;m=63*5gmol'1] 1 +2

Fﬁm%ﬁm%mﬁmu@wmﬁmgq@ﬁﬁ

Ao d g 2 Hl ?
ﬁm%mﬂm%ﬁmismﬁﬁﬁt&m

aAEE % @l au ughm @ ugifem & fsedu d
FreRe & Fd ® & ? L+2

AU
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(e)

0

(1)

(i)

(1)

(11i)

(i1)

mm#aﬁwﬁwﬁm ¥ wfory

vanfye afw ford |
ufifz fsor & R 2 2+
i arfifem ) Q0 W

KMno, —213K,5

99 NaCl ¥ WREW e TU Hig H,SOF W o
firrT e & T e ATGA-EE ATSd & T A>T TEEEE
ferd |

R A W AT THA A ARFH R 2 1+ 1+
= sfufrmast 5 9% & g&8 +1696% (organic) 39 H

qﬁ'ﬁ :

[x} CHECHQCHQCI + Nal > A

e
®  )-CH,-CH=cH, —HBr
= —> B
qaEe
CH3COOAg + Br, —0ad__ -
CcCl,
CHO0H pqy
o Y N

HO
e 'i'sa'ﬁwmﬁﬂﬁﬁ%@w@ﬁamﬁﬁ

Tl § et 2 wwor g, 2+1
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® ) P afeds 00 wth (aam e ok st )

wqf > et ?
(1) =wm sftrede & gam go &8 1o, 20 e 3" e &
9 Jm w4 » -
vy

() oAl s w1 T e 3

TR
?Ha CHj;
C,HsONa + CHa —¢—
H, CHj,

1
Cl — CHy—G—0CaHs

) v e w1 ges SR w2
o) eI T TR R g
g s

O

O
; SRe—2. ﬁIC
c” e’
0
5 0 j
@:COOH D q COONa
P .
COOH COONa
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(i)

(i) fumge uftg aur sigfourge l{fﬂ-iﬁaiﬁ{ﬂ-?ﬁiqqq;m

T 2 24,
e

() For arfuln ¥g Temaf wheo
50% FUETA faerma § gfta gt ® s o 4
e weigs % gy w fean smar

(i) C,H,ON avEgE * ws wmlRs AfF A i whii
FffFmall A @ g@en 3w 81 fa wfifsmadi 4 4, B ¢

Wﬂﬁm%ﬁ

D
Y
A| cHCI; + NaOH (alo)
Br, + KOH
7 — CgHsNH, OH
NaNO, + HCl @
273K C 8. ¢
1+2

(i) AT 1 THAS WL P
(i) U<TFS 99 T 8 ? Gly-Ala SRR gy ) g7 ik

H 1 +2
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5, f—“-{frqfl‘ﬂﬂ q?.ﬂ Q‘ Im lﬂ'fh“_ (#mfr-*l'h “',ﬁ yr w4 !} e t® |5

(a)

(b)

(1)

(n)

(1)

(i)

(iii)

(i)

(ii1)

wun w wfifar e il & diimféa £ b ivgifan .t

ot fn o wum f sfufwa 3 909, qof M3 R4 ATATE

wwa wRvfREn & - w1 (1,,) ® jo k1 3+ 2
e

T2 yom Fife ffwar w7 2 ? T e <

Rt iR ) iAo Sl 1 TR &

QAfew wag T anifr F e

(2NH,(g)—B—Ny(g)+3Hy(8)) & e

(K) = 2-5x107" Ms—‘%m@@aﬁﬁmﬁmﬁi

Ngamﬁg%matwi?

cgamso,iﬁﬁfmﬂﬂﬁgamaﬁl

e afrfean A g0

NaCl + MnO,, + H,SO, (81%) —*—?

e & w0 ¢

W Cl ¥ T A TR S g 9 F, @
st 21

(y) W(Nome]ﬂwﬁmmﬁﬁmmm 2+1+2
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(€) oz el A4 QL aw w) ugard (dae araArE ga )

5' I{J-E]

\OOH A
COOH Strong heat

SOCI; “) CIIJNQ [CKCCSS]
" (i) Ag,0, H0,A

» D

(i) CH,COOH

CHj,
@ (i) CrO,Cl,
(111) - »E
(ii) H,O
CaOQ

(tv)  CH,COONa + NaOH TF

20% H,SO
(v CH,C = CH ke e NP
1% Hg*2 80°C

: OCOCH,
anhydrous AlICI,
(vi) » H+ T
Cs,, A
. - NaHSO,
(vii) CH5CHO » J
HYFT

() U FEfs ANF 30a Jequed W dyfrs s qw
TATEE IFEHIEA I FO | D w1 wvamTTw g7 R

Wﬁmmﬂwmﬁwwﬁmﬁ
H gHhd & ?
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